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SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2

A A 4,964,017 4,901,374 62,643

22t 4,620,017 4,560,067 59,960

ot ==2te| 29,832 14,832 15,000

Klot==2tel 29,832 14,832 15,000

401 Al HIZ 2018 15,000 0 15,000

01 A& HI 15,000 0 15,000
OXNZIXsots dEANL(E2EL) &1

15,000,000 *1J4 & 15,000 0 15,000

HWEHAXES(HSEASE L) 4,554,265 4,509,305 44,960

JEtgI A ES 4,554,265 4,509,305 44,960

701 JIEtSI HSEES 4,554,265 4,509,305 44,960

01 JIEteI HE &= 4,554,265 4,509,305 44,960

OS85 dE3 4,554,265,000& 4,554,265 4,509,305 44,960

HY2HAH (HSSAIL L) 344,000 341,317 2,683

A2 (ASS ML) 303,704 301,021 2,683

AR (HESAE L) 303,704 301,021 2,683

101 1Al 303,704 301,021 2,683

01 2= 125,479 121,677 3,802

Oxgz==g 3,802 0 3,802

—Jls7=2(3=%) 84,4743 x1H 45 3,802 0 3,802

02 JIEt& 2 == 167,831 168,950 A1,119

OANZt2 =& (HREZE) 77,146 100,316 223,170

— &< 11,2143« 1H +60A| 2t 128 8,075 9,017 AN 942

— ZA 10,4303 4B 60 Al 2t+ 128 30,039 33,543 A 3,504

-3 9,481 2 +60Al 2tx123 13,653 15,246 A 1,593

—=3 8,812 «4H+60Al 2t<123 25,379 42,510 A17,131

Odx=ER=, HEI s SHUF Hal 5,288 4,759 529

-—=3 8,812 « 1P +50Al 2t+123 5,288 4,759 529

o2 (32 ) 42,858 60,887 ~ 18,029

— &< 3,738 1P +8Al 2t+150 4,486 5,473 A 987

— Z A 3, 4773 +4H +BA| 2F+150L 16,690 20,362 A3,672

-3 3, 1603 2 »8A| 2t+150L 7,584 9,253 A 1,669

—-=3 2,9373 4H +8BA| 2t+150L 14,098 25,799 A11,701

O (HYAZEFE) 39,551 0 39,551

-3+ 91,9813 »1H »452 4,140 0 4,140

—3M 85,5533 x4H 452 15,400 0 15,400

- 3% 77,7693 x2H 452 7,000 0 7,000

—=3& 72,2803 x4H 45 13,011 0 13,011




